For questions 3-5, use the three different functions given in different forms below: ,
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3. Which function, A or C, has the least (smallest) minimum value? Explain your reasoning and showrour
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4. Which function, A orB, has the largest zero? Explain your reasoning and show your work. )
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5. Which function, A, B, or C, has the largest y-intercept? Explain your reasoning and show your work.
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6. Solve using a method of your choice: factoring, completing the square, quadratic formula, taking i
square roots, graphing. v P; .
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7) Simplifythe following complex expressions. Leave your answer in a + bi form."show

your work.

a. (-3%8)(-2- 7)) b. (7- 3ij— (8 + 3i)
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